**General Info** 

Number: PROJECT NO. 40-17-02

**Description:** 

**BRIDGE REPAINTING,** 

OHIO TURNPIKE RAMP OVER OHIO TURNPIKE

(EXIT 34) - M.P. 34.9,

LIBERTY-ADRIAN ROAD (C.R. 8.1) OVER OHIO

**TURNPIKE - M.P. 41.1**,

**RAKER-BARDEN ROAD (C.R. 7-2) OVER OHIO** 

**TURNPIKE – M.P. 41.9**,

OHIO TURNPIKE (ML. WB.) OVER BERKEY-SOUTHERN ROAD (S.R. 295) – M.P. 51.4, OHIO TURNPIKE (ML. EB.) OVER BERKEY-SOUTHERN ROAD (S.R. 295) – M.P. 51.4,

OHIO TURNPIKE (ML. WB.) OVER ALBON ROAD

(C.R. 86) - M.P. 56.1,

OHIO TURNPIKE (ML. EB.) OVER ALBON ROAD

(C.R. 86) - M.P. 56.1

**FULTON AND LUCAS COUNTIES, OHIO** 

Deadline: MARCH 15, 2017 AT 2:00 P.M. (EASTERN TIME)

(Estimated Cost: \$1,300,000)

Bids	
Business	Bid Total
APBN Inc	\$1,107,530.00
Eagle Industrial Painting, LLC	\$1,109,400.00
Panther Industrial Painting, LLC	\$1,133,001.00
Civil Coatings and Construction	\$1,134,309.00
Elite Contractors, Inc.	\$1,139,728.00

# APBN, INC.

	RAL (Ref. Nos. 1 - 3)  b. Item No. Description	Quantity Un	nits	Unit Price	Extension
	PREMIUM FOR CONTRACT PERFORMANCE BON	D 1		\$40,000.00	\$40,000.00
1	IB.ART.6 AND PAYMENT BOND	LU	IMP		
2	SP 614 MAINTAINING TRAFFIC	1 LU	JMP	\$100,000.00	\$100,000.00
3	624 MOBILIZATION	1 LU	IMP	\$50,000.00	\$50,000.00
			Total: \$19		

PAINTING OF STRUCTURE - OHIO TURNPIKE RAMP OVER OHIO TURNPIKE (EXIT 34) MP. 34.9 (Ref. Nos. 4 - 15)  Ref. No. Item No. Description  Quantity Units Unit Price Extension								
iter. ite	. Rem No. Besonption	Quantit	y Omics	Ome i rice	Extension			
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$107,811.00	\$107,811.00			
4	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$23,958.00	\$23,958.00			
5	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$23,958.00	\$23,958.00			
6	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$23,958.00	\$23,958.00			
7	SP 514A FINISH COAT, SYSTEM OZEU		LUMP					
8	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00			
9	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00			
10	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00			
11	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00			
12	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00			
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00			
13	SP 525A DISPOSAL		LUMP					

	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
14	SP 525A AND DISPOSAL		LUMP		
15	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

**Total:** \$190,585.00

PAINTING OF STRUCTURE - LIBERTY-ADRIAN ROAD OVER OHIO TURNPIKE MP. 41.1 (Ref. Nos. 16 - 27)								
Ref. No.	. Item No. Description	Quantit	y Units	Unit Price	Extension			
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$89,595.00	\$89,595.00			
16	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$19,910.00	\$19,910.00			
17	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$19,910.00	\$19,910.00			
18	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$19,910.00	\$19,910.00			
19	SP 514A FINISH COAT, SYSTEM OZEU		LUMP					
20	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00			
21	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00			
22	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00			

23

24

25

26

27

SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET

PAINT WASTE / HAZARDOUS WASTE HANDLING AND

PAINT WASTE / NON-HAZARDOUS WASTE HANDLING

SP 525A ESTABLISH REGULATED AREAS

SP 525A DISPOSAL

SP 525A AND DISPOSAL

SP 525A CONTAINMENT SYSTEM

**Total:** \$160,225.00

\$1,000.00

\$1,000.00

\$100.00

\$100.00

\$5,000.00

\$50.00

\$1,000.00

\$100.00

\$100.00

\$5,000.00

**EACH** 

**LUMP** 

LUMP

**LUMP** 

LUMP

20

1

1

1

1

<b>PAINTIN</b>	PAINTING OF STRUCTURE - RAKER-BARDEN ROAD OVER OHIO TURNPIKE MP 41.9 (Ref. Nos. 28 - 39)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$83,430.00	\$83,430.00	
28	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,540.00	\$18,540.00	
29	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,540.00	\$18,540.00	
30	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,540.00	\$18,540.00	
31	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP			
32	SP 514A	REMEDIATION OF CHLORIDES	32	<b>HOURS</b>	\$50.00	\$1,600.00	
33	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$100.00	\$2,000.00	
34	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00	
35	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00	
36	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00	
37	SP 525A	DISPOSAL		LUMP			
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00	
38	SP 525A	AND DISPOSAL		LUMP			
39	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00	
					Total:	\$149,950.00	

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER BERKEY-SOUTHERN ROAD MP 51.4 (Ref. Nos. 40 -								
Ref. No. Item No. Description		<b>Quantity Units</b>	Unit Price	Extension				
	SURFACE PREPARATION OF EXISTING STEEL,	1	\$45,432.00	\$45,432.00				
40	SP 514A SYSTEM OZEU	LUMP						
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1	\$10,096.00	\$10,096.00				
41	SP 514A SYSTEM OZEU	LUMP						

	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$10,096.00	\$10,096.00
42	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$10,096.00	\$10,096.00
43	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
44	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
45	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
46	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
47	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
48	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
49	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
50	SP 525A AND DISPOSAL		LUMP		
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total:

\$86,620.00

	NG OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER BERI				•
Ref. No.	Item No. Description	Quantit	y Units	Unit Price	Extension
					<u> </u>
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$45,432.00	\$45,432.00
52	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$10,096.00	\$10,096.00
53	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$10,096.00	\$10,096.00
54	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$10,096.00	\$10,096.00
55	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
56	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
57	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
58	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
59	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00

			7	Гotal:	\$86,620.00
63	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
62	SP 525A AND DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
61	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
60	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$66,519.00	\$66,519.00
64	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$14,782.00	\$14,782.00
65	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,782.00	\$14,782.00
66	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,782.00	\$14,782.00
67	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
68	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
70	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
73	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
74	SP 525A	AND DISPOSAL		LUMP		
75	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total:

\$121,765.00

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER ALBON ROAD MP 56.1 (Ref. Nos. 76 - 87)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$66,519.00	\$66,519.00
76	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$14,782.00	\$14,782.00
77	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,782.00	\$14,782.00
78	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,782.00	\$14,782.00
79	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
80	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
81		GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$100.00	\$2,000.00
82	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
83	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$50.00	\$1,000.00
84	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
85	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
86	SP 525A	AND DISPOSAL		LUMP		
87	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
					Total:	\$121,765.00
TOTAL BID AMOUNT: \$1,107,530						\$1,107,530.00

# **EAGLE INDUSTRIAL PAINTING, LLC**

GENERAL (Ref. Nos. 1 - 3)						
Ref. No. Item No. Description	Quantity	Units	Unit Price	Extension		
1 IB.ART.6 PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1	LUMP	\$20,000.00	\$20,000.00		
2 SP 614 MAINTAINING TRAFFIC	1	LUMP	\$80,000.00	• •		
3 624 MOBILIZATION	1	LUMP	\$51,500.00	\$51,500.00		
			Total:	\$151,500.00		

PAINTING OF STRUCTURE - OHIO TURNPIKE RAMP OVER OHIO TU		•		<u>-</u>
Ref. No. Item No. Description	Quantit	y Units	Unit Price	Extension
SURFACE PREPARATION OF EXISTING STEEL,	1		\$57,750.00	\$57,750.00
4 SP 514A SYSTEM OZEU		LUMP		
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$23,100.00	\$23,100.00
5 SP 514A SYSTEM OZEU		LUMP		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$21,450.00	\$21,450.00
6 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$25,300.00	\$25,300.00
7 SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
8 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00
9 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00
10 SP 525A WORKER PROTECTION	1	LUMP	\$3,000.00	\$3,000.00
11 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00
12 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00
13 SP 525A DISPOSAL		LUMP		

	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00
14 SP 525A	AND DISPOSAL		LUMP		
15 SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$30,000.00	\$30,000.00

**Total:** \$181,900.00

PAINTING OF STRUCTURE - LIBERTY-ADRIAN ROAD OVER OHIO TURNPIKE MP. 41.1 (Ref. Nos. 16 - 27)						
Ref. No. Item No. Description	Quantity	Units	Unit Price	Extension		
SURFACE PREPARATION OF EXISTING STEEL,	1		\$57,750.00	\$57,750.00		
16 SP 514A SYSTEM OZEU	•	LUMP	φον,νου.συ	φοι, ι σοισσ		
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$23,100.00	\$23,100.00		
17 SP 514A SYSTEM OZEU	-	LUMP	Ψ=0,:00:00	Ψ=0, : 00:00		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$21,450.00	\$21,450.00		
18 SP 514A INTERMEDIATE COAT, SYSTEM OZEU	-	LUMP	Ψ=1,100100	<del>+</del> ,		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$25,300.00	\$25,300.00		
19 SP 514A FINISH COAT, SYSTEM OZEU		LUMP	<b>,</b> ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	+ -,		
20 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00		
21 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	•	' '		
22 SP 525A WORKER PROTECTION	1	LUMP	\$3,000.00	\$3,000.00		
23 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00		
24 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00		
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00			
25 SP 525A DISPOSAL		LUMP				
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00		
26 SP 525A AND DISPOSAL		LUMP				
27 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$25,000.00	\$25,000.00		
			Total:	\$176,900.00		

PAINTING OF STRUCTURE - RAKER-BARDEN ROAD OVER OHIO TURNPIKE MP 41.9 (Ref. Nos. 28 - 39)							
Ref. No. Item No. Description	Quantit	y Units	Unit Price	Extension			
SURFACE PREPARATION OF EXISTING STEEL,	1		\$42,400.00	\$42,400.00			
28 SP 514A SYSTEM OZEU		LUMP					
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$16,800.00	\$16,800.00			
29 SP 514A SYSTEM OZEU		LUMP					
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,200.00	\$15,200.00			
30 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP					
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,400.00	\$18,400.00			
31 SP 514A FINISH COAT, SYSTEM OZEU		LUMP					
32 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00			
33 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00			
34 SP 525A WORKER PROTECTION	1	LUMP	\$2,000.00	\$2,000.00			
35 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00			
36 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00			
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00			
37 SP 525A DISPOSAL		LUMP					
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00			
38 SP 525A AND DISPOSAL		LUMP					
39 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$20,000.00	\$20,000.00			
			Total:	\$136,100.00			

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER BER	<b>KEY-SOUTHERN</b>	<b>ROAD MP 51.</b>	4 (Ref. Nos. 40 - 51)
Ref. No. Item No. Description	<b>Quantity Units</b>	Unit Price	Extension
SURFACE PREPARATION OF EXISTING STEEL,	1	\$26,700.00	\$26,700.00
40 SP 514A SYSTEM OZEU	LUMP		
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1	\$9,500.00	\$9,500.00
41 SP 514A SYSTEM OZEU	LUMP		

FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$9,000.00	\$9,000.00
42 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$11,500.00	\$11,500.00
43 SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
44 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00
45 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00
46 SP 525A WORKER PROTECTION	1	LUMP	\$2,000.00	\$2,000.00
47 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00
48 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00
49 SP 525A DISPOSAL		LUMP		
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00
50 SP 525A AND DISPOSAL		LUMP		
51 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$20,000.00	\$20,000.00

\$100,000.00

Total:

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER BERI Ref. No. Item No. Description		ITHERN I y Units	ROAD MP 51.4 Unit Price	4 (Ref. Nos. 52 - 63) Extension
SURFACE PREPARATION OF EXISTING STEEL,	1		\$26,700.00	\$26,700.00
52 SP 514A SYSTEM OZEU		LUMP		
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$9,500.00	\$9,500.00
53 SP 514A SYSTEM OZEU		LUMP		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$9,000.00	\$9,000.00
54 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$11,500.00	\$11,500.00
55 SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
56 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00
57 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00
58 SP 525A WORKER PROTECTION	1	LUMP	\$2,000.00	\$2,000.00
59 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00

60 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00
61 SP 525A DISPOSAL		LUMP		
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00
62 SP 525A AND DISPOSAL		LUMP		
63 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$20,000.00	\$20,000.00

**Total:** \$100,000.00

\$131,500.00

Total:

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER ALBON ROAD MP 56.1 (Ref. Nos. 64 - 75)					
Ref. No. Item No. Description			Unit Price	Extension	
SURFACE PREPARATION OF EXISTING STEEL,	1		\$40,800.00	\$40,800.00	
64 SP 514A SYSTEM OZEU		LUMP			
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$15,200.00	\$15,200.00	
65 SP 514A SYSTEM OZEU		LUMP			
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,400.00	\$14,400.00	
66 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,800.00	\$16,800.00	
67 SP 514A FINISH COAT, SYSTEM OZEU		LUMP			
68 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00	
69 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00	
70 SP 525A WORKER PROTECTION	1	LUMP	\$3,000.00	\$3,000.00	
71 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00	
72 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00	
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00	
73 SP 525A DISPOSAL		LUMP			
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00	
74 SP 525A AND DISPOSAL		LUMP			
75 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$20,000.00	\$20,000.00	

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER ALBON ROAD MP 56.1 (Ref. Nos. 76 - 87)					
Ref. No. Item No. Description	Quantity	Units	Unit Price	Extension	
SURFACE PREPARATION OF EXISTING STEEL,	1		\$40,800.00	\$40,800.00	
76 SP 514A SYSTEM OZEU		LUMP			
FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$15,200.00	\$15,200.00	
77 SP 514A SYSTEM OZEU		LUMP			
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$14,400.00	\$14,400.00	
78 SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,800.00	\$16,800.00	
79 SP 514A FINISH COAT, SYSTEM OZEU		LUMP			
80 SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$250.00	\$8,000.00	
81 SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$140.00	\$2,800.00	
82 SP 525A WORKER PROTECTION	1	LUMP	\$3,000.00	\$3,000.00	
83 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$250.00	\$5,000.00	
84 SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00	
PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$2,500.00	\$2,500.00	
85 SP 525A DISPOSAL		LUMP			
PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$2,000.00	\$2,000.00	
86 SP 525A AND DISPOSAL		LUMP			
87 SP 525A CONTAINMENT SYSTEM	1	LUMP	\$20,000.00	\$20,000.00	
			Total:	\$131,500.00	
TOTAL BID AMOUNT: \$1				\$1,109,400.00	

### **PANTHER INDUSTRIAL PAINTING**

	RAL (Ref. Nos. 1 - 3)  . Item No. Description	Quanti	y Units	Unit Price	Extension
	PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$35,000.00	\$35,000.00
1	IB.ART.6 AND PAYMENT BOND		LUMP		
2	SP 614 MAINTAINING TRAFFIC	1	LUMP	\$55,000.00	\$55,000.00
3	624 MOBILIZATION	1	LUMP	\$50,000.00	\$50,000.00
				Total:	\$140,000.00

PAINTIN	IG OF STE	RUCTURE - OHIO TURNPIKE RAMP OVER OHIO TU	JRNPIKE	(EXIT 34	) MP. 34.9 (R	ef. Nos. 4 - 15)
Ref. No.	Item No.	Description	Quantit	y Units	Unit Price	Extension
		CLIDEACE DDEDADATION OF EVICTING STEEL			Ф <b>7</b> 5 000 00	Ф7F 000 00
4		SURFACE PREPARATION OF EXISTING STEEL,	1	LLIMD	\$75,000.00	\$75,000.00
4		SYSTEM OZEU	á	LUMP	<b>*</b> • • • • • • • • • • • • • • • • • • •	<b>*</b> • • • • • • • • • • • • • • • • • • •
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,185.00	\$18,185.00
5	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
6	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
7	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
8	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
9	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
10	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
11	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
12	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
13	SP 525A	DISPOSAL		LUMP		

	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
14	SP 525A AND DISPOSAL		LUMP		
15	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

**Total:** \$141,857.00

NG OF ST	RUCTURE - LIBERTY-ADRIAN ROAD OVER OHIO T	URNPIKE	MP. 41.	1 (Ref. Nos. 1	16 - 27)
Item No.	Description	Quantity	Units	Unit Price	Extension
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$75,000.00	\$75,000.00
SP 514A	SYSTEM OZEU		LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,185.00	\$18,185.00
SP 514A	SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
SP 525A	DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
SP 525A	AND DISPOSAL		LUMP		
SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
				Total:	\$141,857.00
	SP 514A SP 514A SP 514A SP 514A SP 514A SP 514A SP 525A SP 525A SP 525A SP 525A	SURFACE PREPARATION OF EXISTING STEEL, SP 514A SYSTEM OZEU FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SP 514A SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL, SP 514A INTERMEDIATE COAT, SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL, SP 514A FINISH COAT, SYSTEM OZEU SP 514A FINISH COAT, SYSTEM OZEU SP 514A REMEDIATION OF CHLORIDES SP 514A GRINDING FINS, TEARS, AND SLIVERS SP 525A WORKER PROTECTION SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET SP 525A ESTABLISH REGULATED AREAS PAINT WASTE / HAZARDOUS WASTE HANDLING AND	SURFACE PREPARATION OF EXISTING STEEL,  SP 514A SYSTEM OZEU FIELD PAINTING OF EXISTING STEEL, PRIME COAT,  SP 514A SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL,  SP 514A INTERMEDIATE COAT, SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL,  SP 514A FINISH COAT, SYSTEM OZEU SP 514A FINISH COAT, SYSTEM OZEU SP 514A REMEDIATION OF CHLORIDES SP 514A GRINDING FINS, TEARS, AND SLIVERS SP 525A WORKER PROTECTION 1 SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET 20 SP 525A ESTABLISH REGULATED AREAS PAINT WASTE / HAZARDOUS WASTE HANDLING AND 1 SP 525A AND DISPOSAL PAINT WASTE / NON-HAZARDOUS WASTE HANDLING 1 SP 525A AND DISPOSAL	SURFACE PREPARATION OF EXISTING STEEL, SP 514A SYSTEM OZEU FIELD PAINTING OF EXISTING STEEL, PRIME COAT, SP 514A SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL, SP 514A INTERMEDIATE COAT, SYSTEM OZEU FIELD PAINTING OF NEW AND EXISTING STEEL, SP 514A FINISH COAT, SYSTEM OZEU LUMP FIELD PAINTING OF NEW AND EXISTING STEEL, SP 514A FINISH COAT, SYSTEM OZEU LUMP SP 514A REMEDIATION OF CHLORIDES SP 514A GRINDING FINS, TEARS, AND SLIVERS SP 514A GRINDING FINS, TEARS, AND SLIVERS SP 525A WORKER PROTECTION SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET SP 525A ESTABLISH REGULATED AREAS PAINT WASTE / HAZARDOUS WASTE HANDLING AND SP 525A DISPOSAL PAINT WASTE / NON-HAZARDOUS WASTE HANDLING SP 525A AND DISPOSAL LUMP	SURFACE PREPARATION OF EXISTING STEEL,   1   \$75,000.00     SP 514A SYSTEM OZEU

<b>PAINTIN</b>	G OF ST	RUCTURE - RAKER-BARDEN ROAD OVER OHIO TU	IRNPIKE	MP 41.9	(Ref. Nos. 28	3 - 39)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$75,000.00	\$75,000.00
28	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,185.00	\$18,185.00
29	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
30	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
31	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
32	SP 514A	REMEDIATION OF CHLORIDES	32	<b>HOURS</b>	\$50.00	\$1,600.00
33	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$200.00	\$4,000.00
34	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
35	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
36	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
37	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
38	SP 525A	AND DISPOSAL		LUMP		
39	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
					Total:	\$141,857.00

<b>PAINTII</b>	NG OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER BER	KEY-SOUTHERN	<b>ROAD MP 51.</b>	4 (Ref. Nos. 40 - 51)
Ref. No	. Item No. Description	<b>Quantity Units</b>	Unit Price	Extension
	SURFACE PREPARATION OF EXISTING STEEL,	1	\$75,000.00	\$75,000.00
40	SP 514A SYSTEM OZEU	LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1	\$18,185.00	\$18,185.00
41	SP 514A SYSTEM OZEU	LUMP		

	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
42	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
43	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
44	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
45	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
46	SP 525A WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
47	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
48	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
49	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
50	SP 525A AND DISPOSAL		LUMP		
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

Total:

\$141,857.00

<b>PAINTIN</b>	IG OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER BERF	KEY-SOU	THERN	ROAD MP 51.4	4 (Ref. Nos. 52 - 63)
Ref. No.	Item No. Description	Quantity	y Units	Unit Price	Extension
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$75,000.00	\$75,000.00
52	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,185.00	\$18,185.00
53	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
54	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
55	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
56	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
57	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	\$4,000.00
58	SP 525A WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
59	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00

60	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
61	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
62	SP 525A AND DISPOSAL		LUMP		
63	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00

**Total:** \$141,857.00

PAINTIN	IG OF ST	RUCTURE - OHIO TURNPIKE (ML. WB.) OVER ALBO	N ROAD	MP 56.1	Ref. Nos. 6	4 - 75)
		Description	Quantity		Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$75,000.00	\$75,000.00
64	SP 514A	SYSTEM OZEU	'	LUMP	ψ10,000.00	ψ10,000.00
•		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,186.00	\$18,186.00
65	SP 514A	SYSTEM OZEU		LUMP	<b>,</b> -,	+ -,
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
66	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
67	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
68	SP 514A	REMEDIATION OF CHLORIDES	32	<b>HOURS</b>	\$50.00	\$1,600.00
69	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$200.00	\$4,000.00
70	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
71	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
72	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
73	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00

SP 525A AND DISPOSAL

SP 525A CONTAINMENT SYSTEM

74

75

**Total:** \$141,858.00

\$5,000.00

\$5,000.00

LUMP

LUMP

1

<b>PAINTIN</b>	G OF ST	RUCTURE - OHIO TURNPIKE (ML. EB.) OVER ALBO	N ROAD	MP 56.1	(Ref. Nos. 76	5 - 87)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$75,000.00	\$75,000.00
76	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$18,186.00	\$18,186.00
77	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
78	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$18,186.00	\$18,186.00
79		FINISH COAT, SYSTEM OZEU		LUMP		
80	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$50.00	\$1,600.00
81		GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$200.00	' '
82	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
83	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$20.00	\$400.00
84	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$100.00	\$100.00
85	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$100.00	\$100.00
86		AND DISPOSAL		LUMP		
87	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$5,000.00	\$5,000.00
					Total:	\$141,858.00
		тот	AL BID AN	IOUNT:		\$1,133,001.00

### **CIVIL COATINGS AND CONSTRUCTION**

	RAL (Ref. Nos. 1 - 3)  o. Item No. Description	Quanti	ty Units	Unit Price	Extension
	PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$15,000.00	\$15,000.00
1	IB.ART.6 AND PAYMENT BOND		LUMP		
2	SP 614 MAINTAINING TRAFFIC	1	LUMP	\$70,000.00	\$70,000.00
3	624 MOBILIZATION	1	LUMP	\$30,000.00	\$30,000.00
				Total:	\$115,000.00

PAINTIN	NG OF STRUCTURE - OHIO TURNPIKE RAMP OVER OHIO	) TURNPIKE	<b>(EXIT 34</b>	·) MP. 34.9 (Re	ef. Nos. 4 - 15)
Ref. No.	Item No. Description	Quantit	y Units	Unit Price	Extension
	CUDEACE DREDADATION OF EVICTING CTEEL			<u> </u>	Ф00 444 00
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$90,144.00	\$90,144.00
4	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF EXISTING STEEL, PRIME COA	Τ, 1		\$33,804.00	\$33,804.00
5	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$33,804.00	\$33,804.00
6	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$33,804.00	\$33,804.00
7	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
8	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
9	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
10	SP 525A WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
11	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
12	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING A	ND 1		\$50.00	\$50.00
13	SP 525A DISPOSAL		LUMP		

	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
14	SP 525A AND DISPOSAL		LUMP		
15	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00

**Total:** \$196,176.00

\$186,520.00

Total:

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$85,600.00	\$85,600.00
16	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$32,100.00	\$32,100.00
17	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$32,100.00	\$32,100.00
18	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$32,100.00	\$32,100.00
19	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
20	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$50.00	\$1,000.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
25	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
26	SP 525A	AND DISPOSAL		LUMP		
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00

<b>PAINTIN</b>	G OF ST	RUCTURE - RAKER-BARDEN ROAD OVER OHIO TU	JRNPIKE	MP 41.9	(Ref. Nos. 28	3 - 39)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$78,104.00	\$78,104.00
28	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$29,289.00	\$29,289.00
29	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$29,289.00	\$29,289.00
30	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$29,289.00	\$29,289.00
31	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
32	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
33	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$50.00	\$1,000.00
34	SP 525A	WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
35	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
36	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
37	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
38	SP 525A	AND DISPOSAL		LUMP		
39	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00
					Total:	\$170,591.00

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER BERKEY-SOUTHERN ROAD MP 51.4 (Ref. Nos. 40 - 51)							
Ref. No	. Item No.	Description	Quantity l	Jnits	Unit Price	Extension	
-		SURFACE PREPARATION OF EXISTING STEEL,	1		\$44,104.00		\$44,104.00
40	SP 514A	SYSTEM OZEU	l	LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$16,539.00		\$16,539.00
41	SP 514A	SYSTEM OZEU	L	LUMP			

	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,539.00	\$16,539.00
42	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,539.00	\$16,539.00
43	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
44	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
45	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
46	SP 525A WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
47	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
48	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
49	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
50	SP 525A AND DISPOSAL		LUMP		
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00

Total:

\$98,341.00

<b>PAINTIN</b>	PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER BERKEY-SOUTHERN ROAD MP 51.4 (Ref. Nos. 52 - 63)						
Ref. No	. Item No. Description	Quantit	y Units	Unit Price	Extension		
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$44,104.00	\$44,104.00		
52	SP 514A SYSTEM OZEU		LUMP				
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$16,539.00	\$16,539.00		
53	SP 514A SYSTEM OZEU		LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,539.00	\$16,539.00		
54	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$16,539.00	\$16,539.00		
55	SP 514A FINISH COAT, SYSTEM OZEU		LUMP				
56	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00		
57	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00		
58	SP 525A WORKER PROTECTION	1	LUMP	\$50.00	\$50.00		
59	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00		

60	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
61	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
62	SP 525A AND DISPOSAL		LUMP		
63	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00

**Total:** \$98,341.00

PAINTIN	NG OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER ALBO	N ROAD	MP 56.1	I (Ref. Nos. 6	4 - 75)
Ref. No.	Item No. Description	Quantity	Units	Unit Price	Extension
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$61,200.00	\$61,200.00
64	SP 514A SYSTEM OZEU		LUMP	,	, ,
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$22,950.00	\$22,950.00
65	SP 514A SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$22,950.00	\$22,950.00
66	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$22,950.00	\$22,950.00
67	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
68	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
69	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
70	SP 525A WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
71	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
72	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
73	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
74	SP 525A AND DISPOSAL		LUMP		
75	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00

**Total:** \$134,670.00

<b>PAINTIN</b>	IG OF ST	RUCTURE - OHIO TURNPIKE (ML. EB.) OVER ALBO	N ROAD	MP 56.1	(Ref. Nos. 76	5 - 87)
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$61,200.00	\$61,200.00
76	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$22,950.00	\$22,950.00
77	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$22,950.00	\$22,950.00
78	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$22,950.00	\$22,950.00
79	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
80	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$10.00	\$320.00
81	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$50.00	\$1,000.00
82	SP 525A	WORKER PROTECTION	1	LUMP	\$50.00	\$50.00
83	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
84	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$50.00	\$50.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$50.00	\$50.00
85	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$50.00	\$50.00
86	SP 525A	AND DISPOSAL		LUMP		
87	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$3,000.00	\$3,000.00
					Total:	\$134,670.00

**TOTAL BID AMOUNT:** 

\$1,134,309.00

# ELITE CONTRACTORS, INC.

	RAL (Ref. Nos. 1 - 3)  b. Item No. Description	Quanti	ty Units	Unit Price	Extension
	PREMIUM FOR CONTRACT PERFORMANCE BOND	1		\$20,000.00	\$20,000.00
1	IB.ART.6 AND PAYMENT BOND		LUMP		
2	SP 614 MAINTAINING TRAFFIC	1	LUMP	\$50,000.00	\$50,000.00
3	624 MOBILIZATION	1	LUMP	\$65,000.00	\$65,000.00
				Total:	\$135,000.00

<b>PAINTI</b>	NG OF STRUCTURE - OHIO TURNPIKE RAMP OVER OHIO T	URNPIKE	(EXIT 34	) MP. 34.9 (Re	ef. Nos. 4 - 15)
Ref. No	. Item No. Description	Quantity	y Units	Unit Price	Extension
-	SURFACE PREPARATION OF EXISTING STEEL,	1		\$55,000.00	\$55,000.00
4	SP 514A SYSTEM OZEU	•	LUMP	ψοο,οοο.οο	φοσ,σσσ.σσ
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$15,188.00	\$15,188.00
5	SP 514A SYSTEM OZEU		LUMP	, ,	• ,
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00	\$15,188.00
6	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00	\$15,188.00
7	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
8	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
9	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00
10	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
11	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
12	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00
13	SP 525A DISPOSAL		LUMP		

				Total:	\$120,104.00
15	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00
14	SP 525A AND DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00	\$1,000.00

		RUCTURE - LIBERTY-ADRIAN ROAD OVER OHIO To Description	Quantity		Unit Price	Extension	
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$55,000.00		\$55,000.00
16	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$15,188.00		\$15,188.00
17	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00		\$15,188.00
18	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00		\$15,188.00
19	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP			
20	SP 514A	REMEDIATION OF CHLORIDES	32	<b>HOURS</b>	\$20.00		\$640.00
21	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	<b>HOURS</b>	\$80.00		\$1,600.00
22	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00		\$100.00
23	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00		\$100.00
24	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00		\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00		\$1,000.00
25	SP 525A	DISPOSAL		LUMP			
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00		\$1,000.00
26	SP 525A	AND DISPOSAL		LUMP			
27	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00		\$15,000.00
					Total:	\$	120,104.00

PAINTING OF STRUCTURE - RAKER-BARDEN ROAD OVER OHIO TURNPIKE MP 41.9 (Ref. Nos. 28 - 39)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$55,000.00	\$55,000.00	
28	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$15,188.00	\$15,188.00	
29	SP 514A	SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00	\$15,188.00	
30	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP			
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$15,188.00	\$15,188.00	
31	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP			
32	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00	
33	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00	
34	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00	
35	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00	
36	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00	
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00	
37	SP 525A	DISPOSAL		LUMP			
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00	\$1,000.00	
38	SP 525A	AND DISPOSAL		LUMP			
39	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00	
					Total:	\$120,104.00	

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER BERKEY-SOUTHERN ROAD MP 51.4 (Ref. Nos. 40 - 51)							
Ref. No	. Item No.	Description	<b>Quantity Unit</b>	s Unit Price	Extension		
		SURFACE PREPARATION OF EXISTING STEEL,	1	\$81,000.00	\$81,000.00		
40	SP 514A	SYSTEM OZEU	LUM	1P	, ,		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1	\$20,188.00	\$20,188.00		
41	SP 514A	SYSTEM OZEU	LUM	1P			

	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00
42	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00
43	SP 514A FINISH COAT, SYSTEM OZEU		LUMP		
44	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
45	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00
46	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
47	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
48	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00
49	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00	\$1,000.00
50	SP 525A AND DISPOSAL		LUMP		
51	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

\$161,104.00

Total:

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER BERKEY-SOUTHERN ROAD MP 51.4 (Ref. Nos. 52 - 63)							
Ref. No	. Item No. Description	Quantit	y Units	Unit Price	Extension		
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$81,000.00	\$81,000.00		
52	SP 514A SYSTEM OZEU		LUMP				
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$20,188.00	\$20,188.00		
53	SP 514A SYSTEM OZEU		LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00		
54	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP				
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00		
55	SP 514A FINISH COAT, SYSTEM OZEU		LUMP				
56	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00		
57	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00		
58	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00		
59	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00		

60	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00
61	SP 525A DISPOSAL		LUMP		
	PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00	\$1,000.00
62	SP 525A AND DISPOSAL		LUMP		
63	SP 525A CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00

**Total:** \$161,104.00

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. WB.) OVER ALBON ROAD MP 56.1 (Ref. Nos. 64 - 75)								
	. Item No. Description	Quantity		Unit Price	Extension			
	SURFACE PREPARATION OF EXISTING STEEL,	1		\$81,000.00	\$81,000.00			
64	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$20,188.00	\$20,188.00			
65	SP 514A SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00			
66	SP 514A INTERMEDIATE COAT, SYSTEM OZEU		LUMP					
	FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00			
67	SP 514A FINISH COAT, SYSTEM OZEU		LUMP					
68	SP 514A REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00			
69	SP 514A GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00			
70	SP 525A WORKER PROTECTION	1	LUMP	\$100.00	\$100.00			
71	SP 525A PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00			
72	SP 525A ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00			
	PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00			
73	SP 525A DISPOSAL		LUMP					

1

1

LUMP

LUMP

PAINT WASTE / NON-HAZARDOUS WASTE HANDLING

SP 525A AND DISPOSAL

SP 525A CONTAINMENT SYSTEM

74

75

**Total:** \$161,104.00

\$1,000.00

\$15,000.00

\$1,000.00

\$15,000.00

PAINTING OF STRUCTURE - OHIO TURNPIKE (ML. EB.) OVER ALBON ROAD MP 56.1 (Ref. Nos. 76 - 87)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		SURFACE PREPARATION OF EXISTING STEEL,	1		\$81,000.00	\$81,000.00
76	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF EXISTING STEEL, PRIME COAT,	1		\$20,188.00	\$20,188.00
77	SP 514A	SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00
78	SP 514A	INTERMEDIATE COAT, SYSTEM OZEU		LUMP		
		FIELD PAINTING OF NEW AND EXISTING STEEL,	1		\$20,188.00	\$20,188.00
79	SP 514A	FINISH COAT, SYSTEM OZEU		LUMP		
80	SP 514A	REMEDIATION OF CHLORIDES	32	HOURS	\$20.00	\$640.00
81	SP 514A	GRINDING FINS, TEARS, AND SLIVERS	20	HOURS	\$80.00	\$1,600.00
82	SP 525A	WORKER PROTECTION	1	LUMP	\$100.00	\$100.00
83	SP 525A	PROTECTIVE CLOTHING/EQUIPMENT SET	20	EACH	\$5.00	\$100.00
84	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$100.00	\$100.00
		PAINT WASTE / HAZARDOUS WASTE HANDLING AND	1		\$1,000.00	\$1,000.00
85	SP 525A	DISPOSAL		LUMP		
		PAINT WASTE / NON-HAZARDOUS WASTE HANDLING	1		\$1,000.00	\$1,000.00
86	SP 525A	AND DISPOSAL		LUMP		
87	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$15,000.00	\$15,000.00
					Total:	\$161,104.00
TOTAL BID AMOUNT: \$1,139,728.0						\$1,139,728.00